AR #HRE
(— - 154 P ARL)

R2E -THEA2025 4 ERHIRIE

(BREMH =% #R)

¥ o fi 1% % 24,300,000 (Fi k) 1BARBIVIET
ERAEHI PR E Al 4% 21,480,000
SUE LR 0.9985
=8 21,447,780M
B KB % B i % £ 21,440,000 (Fi1k) 1BFARHVIET
% o= 88.3% EHE= AL S/ T EMIE
Bifr: /M
AHEES 1M S
1 () Atz 21,420,000 | S48 #1 BB {4 % %
2 HEHE () 21,450,000
3 NBEEH) &L 21,450,000 |<CI=&YRTE
4 () HHT TH5IE 21,450,000
5 ikt i (k) 21,460,000
6 () BALHE 21,460,000
7 (B)EBIBE 21,470,000
8 HERI% (R 21,470,000
9 1RER () 21,480,000
10 (B) BN THE 21,500,000
11 BRHET (Bk) 21,500,000
12 () EE 21,520,000
13 BHEE () 21,530,000
14 FHEES G 21,530,000
15 TEIBERER (Bk) 24,020,000
16
17
18
19
20
21
22
23

ER2EICT1007D10ICHE T HEEMEL-EEARHELDOBLAAICRDEETH D,

AFL(FHL) B -=15

29 A3BCK) FHiilsk45%

AKF 10 1012E=




